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Ques # :1

Sunita is trying to hold the names of the students, she just met in her psychology class in short term memory.
According to studies, these short term memories will be stored in what part of the brain:

1) Cerebellum

2) Hippocampus
3) Amygdala

4) Prefrontal lobe
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Ques # :2

The role of the in the formation of new long term memories was first mode apparent in the
case of H.M a famous amnesias

1) Hippocampus
2) Amygdata
3) Frontal lobes
4) Cerebellum
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Ques # :3

According to Law of forward conduction neurons only transmit information in which direction-
1) from the dendrites to axon

2) from the axon to the dendrites

3) from the soma to dendrites

4) from the axon to soma
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Ques # 4



The idea that the brain contributes in important ways to behaviour which can be scientifically studied was
originally developed by-

1) Rene Descarts
2) Wilder Penifield
3) Paul Broca

4) Charles Darwin
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Ques # :5

If you are typing on the computer keyboard, the motions of your fingers on the keys are probably being
controlled by-

1) the autonomic nervous system
2) sensory pathway neurons

3) motor path way neurons

4) autonomic neurons
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Ques # :6

Which of the following is associated with sleep, mood and appetite-
1) Acetylcholine

2) Gaba

3) Serotonin

4) Endorphin
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Ques # 7

Which of the following techniques uses a radioactive sugar to look at the functioning of the brain ?
1) EEG

2) CT

3) MRI

4) PET
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Ques # :8

The higher mental functions such as thinking and problem solving are found in _____ lobe
1) frontal

2) Parietal

3) temporal

4) occipital
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Ques # 9

Which part of the neuron is covered by myelin sheath?
1) Dendrite

2) Axon

3) End brush

4) All of these
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Ques # :10

In which part of the body pitutary gland is located?
1) Brain

2) Liver

3) Kidney

4) Stomach
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Ques # :11



Dyslexia occurs when which part of the Brain is damaged?
1) Left occipital lobe

2) Left temporal Lobe

3) Left frontal Lobe

4) Left parietal lobe
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Ques # :12

There are various kinds of cells in human body Which are of the following is not a neuron?
1) Sensory

2) Inter

3) Moter

4) Glia
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Ques # :13

Which of the following gland determine metabolism in the body?
1) Pitutary gland

2) Adrenal gland

3) Thyroid gland

4) Pinel gland
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Ques # :14

Where is center for audition situated in the brain ?
1) Frontal lobe

2) temporal Lobe

3) Parietal lobe

4) Occipital lobe
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Ques # :15

Broca's area is associated with -
1) Speech production

2) Higher level thinking

3) Emotions

4) Intelligence

T & TYTT FTHFAT &

1) arer 3caresi(smmsT fason)
2) sea Qg |

3) g

g

Ques # :16

You have a piece of candy that you are holding in your mouth. After a while, the candy does not taste as
strong as it did when you first tasted it, what has happened ?

1) Sensory adaptation
2) subliminal perception
3) threshold adaptation
4) perceptual defense
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Ques # :17

Phi Phenomena is the principle behind :
1) Illusion of brightness

2) Illusion of distance

3) Illusion of size

4) Illusion of movement
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Ques # :18

In films and television programmes principal of visual perception used is:
1) Stroposcopic

2) Steroscopic

3) Binocular parallax



4) Gamma Movement
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Ques # :19

The middle ear directs sound waves to the inner ear. Thus the middle ear acts as a -
1) Transformer

2) Transmitter

3) Translator

4) Regulator
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Ques # :20

The apparent motion of stationary point of light in darkness is called-
1) Biological motion

2) Binocular rivalry

3) Auto stereogram

4) Autokinetic movement
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Ques # :21

The minimum amount of physical intensity of a stimulus required for its detection is called
1) Potentiation

2) Absolute limen

3) Differential threshold

4) Terminal threshold
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Ques # :22

Space and movement error is in which of the following method ?
1) Method of Average Error

2) Constant Stimuli Method

3) Method of Limits

4) Pair Comparison Method
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Ques # :23

Who among the following emphasized a physiological approach of perception ?
1) Gibson

2) Hebb

3) Wertheimer

4) Thorndike
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Ques # :24

The preception of motion in motion pictures is an example of ?
1) Stroboscopic movement

2) Gamma movement

3) Autokinetic effect

4) Induced motion
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Ques # :25

In an experiment of reaction time to recognize neutral and taboo words was measured. The reaction time to
recognize taboo words was significantly higher than the neutral words. It is an example of -

1) Perceptual Vigilance

2) Perceptual Illusion

3) Perceptual Negligence

4) Perceptual Defense Mechanism
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Ques # :26

Which of the following is associated with one of the theory of perception of depth?
1) Watson

2) Gibson

3) Cattell

4) Peterson
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Ques # :27

Korte's law is related to which of the following ?
1) Depth perception

2) Size constancy

3) Figure and ground

4) Apparent movement
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Ques # :28

Which of the following theory was propounded by the works of Lipps?
1) Eye-Movement theory

2) Field Theory

3) Perspective theory

4) Empathy theory
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Ques # :29

' Constant increment in stimulus intensity produces smaller and smaller increases in percieved magnitude of
sensation. ' Which of the following law states this :

1) Thorndike's Primary Law



2) Weber's Law
3) Wundt's Law
4) Fechner's Law
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Ques # :30

Which of the following is not a Monocular Depth Cue ?
1) Motion parrllax

2) Retinal disparity

3) Interposition

4) Linear perspective

et & @ ST v A 78S Tha AT 82
D aifay Reaterremer

2) efReqeed AT

3) 3ta: Feufa

4) Y@ efeeaior

Ques # 31

According to the Premack principle, a reinforcer can be anything that -
1) changes behaviour from its past norms

2) rewards rather than penalizes behaviour

3) becomes associated with an unconditioned stimulus

4) is valued by the organism, such as an activity
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Ques # :32

Instinctual drift and taste aversion are both example of -
1) learned helplessness

2) fear conditiong

3) spontaneous recovery

4) biological constraints on learning
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Ques # :33

Seligman found many similarities between his 'helpless' dogs and people suffering from-
1) aggressive behaviour syndrome

2) mental illness

3) schizophrenia

4) depression
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Ques # :34

Which one of the following statements about flash bulb memory is false -
1) It may be formed by the hormones released during emotional states.

2) It is vivid and detailed

3) It is unusually accurate

4) It can be personal or concerned with outside events
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Ques # :35

Which set of processes is involved in storing of information in long term memory ?
1) Chunking

2) Long term potentiation

3) Consolidation

4) Monitoring
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Ques # :36

If primary reinforcement in given in larger quantity , after few trials, the animal will -
1) Stop learning

2) Learn faster

3) Learn with medium speed

4) Learn much more than expected
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Ques # :37

The best method for encoding long term memory is probably to use:
1) maintenance rehearsal

2) rote rehearsal

3) elaborative rehearsal

4) sleep learning
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Ques # :38

When a person 'forgets' what someone has just said because he was not paying attention to the speaker at
allit is an example of ........... explanation of forgetting ?

1) Interference

2) Memory trace
3) Encoding failure
4) Repression
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Ques # :39

In the game show 'Kaun Banega Crorepati' participants are asked a series of questions of general information
although of increasing difficulty. The type of memory needed to access the answers to these Kkinds of questions
is-

1) Procedural memory
2) semantic memory
3) episodic memory
4) working memory
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Ques # :40

In the following which is the most similar to the concept of long term memory -
1) a revolving door

2) a filing cabinet

3) a desk top

4) a computer keyboard
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Ques # 41

Choose the correct answer - Assertion (A) : It is easier to learn the word Cow as compared to WOC.
Reason(R ) : Meaningful words are easier to learn as compared to nonsense syllables

1) Both(A) and (R ) are correct and (R )is the Correct explanation of (A)

2) Both (A) and (R ) are correct but (R ) in not the correct explanation of (A)
3) (A) in true but( R ) in false

4) (A) in false but (R ) in true
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Ques # :42

The behaviourist could be placed in which of the following order -
1) Watson, Pavlov, Hull, Skinner

2) Hull, Skinner, Pavlov ,Watson

3) Skinner, Watsan, Hull, Pavlov

4) Pavlov,Hull,Watson,Sknner
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Ques # :43

The theory which attempted to explain both the structure as well as processes of long term memory is known
as -

1) TLC theory of Quilian

2) ACT theory of Anderson

3) Information theory of Atkinson & Shiffrin
4) Dual coding theory of Pavio
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Ques # :44

Who introduced the hierarchical network of semantic memory ?
1) Sternberg

2) Quillian

3) Tulving

4) Meyer
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Ques # 45

According to Craik and Lockhart's elaboration model use of mnemonic techniques would by one type of -
1) Elaborated rehearsal

2) Maintenance rehearsal

3) Recency effect

4) Short term memory strategy
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Ques # :46

Brown and McNeil investigated the 'tip of the tongue phenomenon' to study, the which type of problem-
1) Incompatible responses

2) retrieval from memory

3) immediate memory

4) phonetic symbolism
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Ques # :47



In short term memory experiment done by Peterson and Peterson, Recall is a

1) Linearly increasing function of time interval

2) Linearly decreasing function of time interval

3) positvely accelerating function of time interval
4) Negatively accelerating function of time interval
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Ques # :48

Which of the following is correct paradigm of classical conditioning?
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Ques # :49

If reinforcement is withdrawn after the establishment of conditioning then which of the following phenomenon
occurs?

1) Extinction

2) Generalization

3) Discrimination

4) Delay in Response
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Ques # :50

A Parent asked their son that if he will get good marks in Board examination, he will suitably rewarded and to
get the reward child worked hard. This is application of which of the following learning theory?

1) Classical conditioning

2) Trial and Error

3) Instrumental conditioning
4) Insight
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Ques # :51

Which of the following instrument can be used in the study of Bilateral Transfer?
1) Pneumograph

2) Memory Drum

3) Aesthesiometer

4) Mirror Drawing Apparatus
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Ques # :52

Scalloping effect is related with which type of reinforcement schedule ?
1) Variable Reinforcement Schedule

2) Fixed Ratio Schedule

3) Concurrent Chain Reinforcement

4) Fixed Interval Schedule
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Ques # :53

Which of the following association will be correct response in Serial Learning?
1) Backward Association
2) Remote Forward Association



3) Forward Association
4) Remote Backward Association
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Ques # :54

In a learning curve plateau is known as which of the following conditions ?
1) When learning accelerates

2) When learning diminishes

3) End spurt

4) When learning neither accelerates nor diminishes
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Ques # :55

Which of following method is used to measure short term memory?
1) Reconstruction method

2) Distraction Technique

3) Recognition method

4) Saving method
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Ques # :56

Repression of the memory can be put in which of the following form?
1) Rationalization

2) Withdrawal

3) Selective forgetting

4) Compensation
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Ques # :57

According to Skag-Robinson Hypothesis when Retroactive Inhibition will be maximum?
1) When first and second task are 100% similar

2) when first and second task are 100% different

3) When first and second task are moderately similar

4) When first and second task are 90% different
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Ques # :58

In random search method of problem solving, which of the following Learning Theory is used?
1) Insight

2) Instrumental conditioning

3) Classical conditioning

4) Trial and error
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Ques # :59

Which of the following is the best condition for conditioning ?

1) CS & UCS are presented exactly at the same times

2) Presenling CS & UCS with the time gap of two minutes between them
3) CS precedes UCS by about 0.5 seconds

4) Presenting CS after one minute of presenting UCS
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Ques # :60

Which of the following is and a primary Law of learning given by Thorndike ?
1) Law of Frequency

2) Law of focus

3) Law of readiness

4) Law of effect
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Ques # :61

Inthe approach, people are said to have an optimal level of tension -
1) Drive reduction

2) Arousal

3) Incentive

4) Humanistic
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Ques # :62

Human behaviour is said to be goal directed being forced by an internal force. The internal force which
directs the behaviour is known as -

1) Learning capability

2) Psycho Physiological strength
3) Disequilibrium at the need level
4) Maturation of brain

AT SIIER I A6 AERIT aaqamar srar § 3R 78 seaes afFa qanT aifea §iar s a8
Hed R ATFT S TTeR F FERT FAN T IX FETIATE

1) 3rfRrerer etaar

2) Forefee afed

3) 3MaRIFAT TR H I

4) feass & aRgeaar

Ques # :63

According to Atkinson's theory,the tendency to approach an achievement task is the function of :
1) The motive for success

2) The subjective probabilty of success on the task

3) The incentive value of reaching the goal

4) All of these

vefrewet Rgia & 3TuR, 3uafeer adiaror Y yred Fa f ggfa FrHd ¢
1) gerar & forw 9xomm

2) R T GherdT T STTFATTSS GFHATSAAT

3) Fgr 1o &1 IR Hed

1) go7ef & el

Ques # :64

Which is not the obstacle to problem solving ?



1) Confirmation bias
2) Fixation

3) Mental set

4) Heuristics

HHEIT ATHTT HY aTeT HiT A AST & 2
D gfee o

2) gearfeor

3) ArIfae Award

4) AU TR

Ques # :65

In reasoning when the premises are true cannot be false.

1) Conclusion
2) Argument
3) Thoughts

4) Propositions

dhRUT H AT MUR AFT TG @Y AT Il o181 @) Thd
D) e

2) gk

3) Ry

1) qhar

Ques # :66

According to Maslow a person who want to become self actualized must first satisfy
1) Higher needs before other more basic needs

2) more basic needs such as food and safety

3) Needs for creativity justice,beauty

4) Need for achievement ,affiliation power

ATEAT & HTAR T SATFA AT HATATEG ATEal § 3§ FETIH it FTeAT A1fRT-
D) 20 31f0rer wruf@e 3maeaendn3il & ggor 3T 3agehdnd

2) 37T T TaeTHaT3T SH SIsfel T F&T

3) goteTcHeh, a1 Uq Hiead SYey Y 3Taggehd

4) USRI, HEeaFa= U AT 3TARF

Ques # :67

Winter's work is related with which of the following type of social motives-
1) Need for achievement

2) Need for power

3) Need for autonomy

4) Need for order

e #1 w1 Ao fad aHfors INE! & YR @ gFafa ¥
D sqafer e

2) gar HfANF

3) Faradar 3fAveE

4) sheaerar RS



Ques # :68

According to the_ - theory of emotion, an emotional stimulus simultaneously produce two reaction:
physical arousal and subjective experience of emotion-

1) James Large body reaction

2) Cannan-Bord central neural processing
3) Lazarus Schahter cognitive arousal

4) Darwin evolutianary function

AN & TG F TR W AT 397 & 9fham w1y |rer 3cde Fa1 ¢ RRF 3t 3R
HTcATATE Arafars Hera

D) s7g dfeot AR wfafary

2) FeAet-aS HERT T HaTeeT

3) TSIRH ThieT HeACHS 3ot

1) ERTAeT APTaaTE T

Ques # :69

"Beverage' is an example of which one of the following type of concept-
1) simple concept

2) conjunctive concept

3) disjunctive concept

4) rational concept

Yuere rafaf@d # @ #i9 @ ve TR & 9T FT 3¢TEI0T §-

Ques # :70

A patient suffering from gall bladder problem wishes to get rid of the same but has to undergo a painful
operation which he does no want. The type of conflict he is experiencing is known as

1) Approach -Approach conflict

2) Avoidance- Avoidance conflict

3) Approach -Avoidance conflict

4) Double approach avaidance conflict

U WP AR it TAEAT @ AT ¢ 98 5 FATAT A FTHRT AT 6T ¢ Io] S8 (AT 37
GEETHY AeARHAT & I §19N W] TE AT AL ATelt| ForH TR & gges A oI T & 3¢ Al
STl &-

1) SHIdIH SHIdIAH qdoq

2) ofER aRER gaee

3) 39791 IRER gavg

4) EIexT 3UTTH IRER egey

Ques # :71

According to recent formulation of frustration aggression hyptothesis through aggression is viewed as a
reaction to fustration. Its actual occurrence depends upon the presence of

1) a model



2) aggressive cues
3) pentup aggressive urges
4) inmate urges

gl A fAH FoT IThATFAT WTFFedaT & HTAR U AR HI FoT hT Ffafwar 1 efee @ 2@
SATAT & ST areafas gear 3menid §-

D) foreft ufarea & 3ufeueh

2) 3TeheAe Hehe

3) TehT g% 3R 37 IR hr Sufkafa @

4) Hgot 37c: IO T IufEAfy |

Ques # :72

Which of the following set indicates social motives?
1) Achievement, Belongingness ,Power, Approval

2) Achievement, Belongingness ,Power , Approval
3) Hunger, Autonomy ,Power, Approval

4) Self Esteem, Achievement ,Approval, Thirst

frrafaf@a wa=aa # @ i & gl sfRsr f sfa wware
D) suafey, wrawe, T, 3egHes

2) 3ueretll, GFaeY, I, HeTAlC

3) 3@, TaAT, T, 3eTAGsT

%) gfarsar, 3ueret, 3THes, wama

Ques # :73

Cognitive theory of Emotion was propounded by whom?
1) James-Lange

2) Cannon Bard

3) Lazarus

4) Lindsley

AT & FAWTCHAS g o1 Fas gfaafea fFar 2
D) S=g o

2) oA TS

3) aE

) folsEar

Ques # :74

Hari wants to appear in I.A.S examination but is worried about failure. In this situation, he is in which
conflict?

1) Approach - Approach

2) Approach - Avoidance

3) Avoidance - Avoidance

4) Double Approach - Avoidance

g0 IE.TW. (IAS) Y GeT 3T Trgar ¥ AfFeT srawerar & Rifded sit gt w1 ¥ 98 rw ggeg A ¥
D) summ@-3unes
2) 39rTA-IRER
3) aftER- iR



4) iy 3UTeTH- URER

Ques # :75

Functional Autonomy of motives is associated with which of the following
1) Allport

2) McClelland

3) Atkinson

4) McDougal

RFH A FIcHE T AT § ¥ Fad Ty greafaa ¥
D) sremaie

2) Haperals

3) Yefreaet

4) Fepgarer

Ques # :76

Day dreaming is which type of thinking?
1) Divergent Thinking

2) Convergent Thinking

3) Reasoning

4) Autistic thinking

AT A @ Raraua fFa yeR FTRaa g ?
D) sroardy Riger

2) forar Riger

3) q&or

4) ool Rige

Ques # :77

Luchin studied the effect of set on which of the following ?
1) Perception

2) Sensation

3) Memory

4) Problem Solving

iR & foeer 7 @ fFaar @ &1 verra 1 Iregga fhan?
D) geaeqofientor

2) Faear

3) e

4) FEETT AT

Ques # :78

Which of the following is an example of Algorithm in problem solving?
1) Random search method

2) Heuristic search method

3) Means ends Analysis

4) Backward search method



THAEYT GATUT & e & @ Fia @ RS vamRes F13g@I0rd 2
D) grefeos s=avor A

Z)W:@Gfﬁﬁl'

3) grereT Are fagevor

4) qesaeT 31T fafe

Ques # :79

Ego works on which of the following principle ?
1) Pleasure Principle

2) Reality Principle

3) Ethical Principle

4) Social Principle

A AT T RGTRFAFATE
D g@ # fagid

2) ariedderdr & fagia

3) Afdear & Rrgia

4) granfors Reia

Ques # :80

According to Horney 'Basic Anxiety ' develops in which life stage ?
1) Childhood

2) Adolescence

3) Adulthood

4) Old Age

g1l & ITER SafFa ¥ 7e R &1 e slae & Fa s A e
D) sregemrer

2) fepeiRTarEar

3) cgEmaET

4) geraraET

Ques # :81

According to Erickson,number of stages in the psychosocial development are
1) Five

2) Eight
3) Seven
4) Three

sREFwe & HTAR AAEETSF e A fFras saear 82
) ofg

2)  3Ts
3 g
Y e
Ques # :82

Cattell classified the dynamic trait in three parts. Which one of the following is correct
1) Erg, Psychological complex, Attitude



2) Erg,Sentiment,Attitude
3) Erg,Sentiment,Psycholosical Complex
4) Erg, Sentiment ,Temperament

FET N TcATCHS Lfeor Ht et stran F dffer| frer 7 RFeq Flr ATE?
D) 3ot it Aehafea

2) 31et FefeTTa A ot

3) 3797, FNTHTa AAIT,

4) 3131 AATT, TIHTT

Ques # :83

Who among the following used self concept in his Theory?
1) Murray

2) Bandura

3) Allport

4) Rogers

T & O fFue 39e Rgia & 3eq Yo F1 39T fFar
D gy

2) gugr

3) 3emaré

4 o

Ques # :84

Who among the following propounded personal construct theory?
1) Rogers

2) Cattell

3) Kelly

4) Maslow

foreer 3 9 et cafeTa g Ter R feraTRe e 2
1) Qo

2) S

3) &y

4) AT

Ques # :85

Choose the correct order of stage of Psychosexual devlepment given by Freud
1) And, oral, letency , phallic, genital

2) genital, latency, and , phallic ,oral

3) oral and latency, genital ,phallic

4) oral ,and phallic, latency, genital

WigS 6T AT [ RAFT F TE A7 F1 990 AT

D) arerarea sarawen, srcerdraear, o geraear, s fegamasar
2) AT AT, AT AT T IGTAET, [oiaT TITeTaT FWIaEe,
3) HETEEUT,ETaET, e dTa T, ST e g AT T, foleT Srerrerae
4) FETTELT, ETIET, T TG, eaerTa T, S e g araedT



Ques # :86

' Felt emotions are the perception of bodily changes.' Which of the following theory supports this statement ?
1) James-Lange Theory

2) Connon-Bard Theory

3) Schachter-Singer Theory

4) Skagg-Robinson Theroy

" AEHH frd war RF aRadat F gegafiawor § e & & wlaar Rgia arg 39 a=a #71
AT FIATE 2

D) Srrg-ohr Rigiaarg

2) Seter-aTs Tagidarg

3) Qere-RTR RAgicare

1) har-ufaeas Rigiaas

Ques # :87

In the need hiererchical modal of Maslow what is the place of Aesthetic needs
1) 3rd positon
2) 5th position
3) 6th postion
4) 4th position

ATEAT & AvTer STaeTFar W 3 Wieeda e ATTTEHaT HT F4T T §
D) e s

2) qrarar €T

3) Ger T

4) <ter wTe

Ques # :88

Achievement motivation concept is extensively studied by -
1) Watson and Bandura

2) Schafer and Murphy

3) Postman and Bruner

4) McClelland And Atkinson

Fqerforr FANROT Yo 1 reaas Rear ¥ v -
D) arewst g gegur Y

2) Tho AT AT A

3) areeAe AR TR A

1) Herolrols g 3rchierast o

Ques # :89

Which of the following is not a social motive ?
1) Achievement Motivation

2) Nurturance motivation

3) Need to regulate temperature of body

4) Dominance Motivation

AT A @ Fiad) rfaon arefoe FfAoRon gl g 2



D) sqafer sfaoon

2) gryur YT

3) eI & ATqHETeT AT e 1 3raegehar
4) ganfaar s

Ques # :90

Which of the following was used by Abraham Maslow to refer to higher order needs -
1) Meta needs

2) Central needs

3) Main needs

4) Unique needs

HATEH ATHAT GART FITH HTTRIFATIN Y 3T FHH dTell ATTIFHATA FT ?
D siftrsmaeasard

2) & JHTaRT Rt

3) e 3maRFEHart

4) RS 3maegeard

Ques # 91

In Gardner's view astronauts, navigators and artists would be high in____ intelligence .
1) verbal/linguistic

2) visual/spatial

3) Interpersonal

4) Intrapersonal

SR F farY 7 sr=aReraeh , s va Fow & TRy sTT AT A BT |
1) arfren/smrg
2) g /eaea
3) seadaiFds
D sea-afFas

Ques # :92

intelligence is a good predictor of success in life but has a low relationship to

1) Practical; academic
2) practical; creative

3) academic; creative
4) academic; practical

TeaanrAurEr fr_ gfE Sfiae & awaar & o v sreeT sfswsye s aFar g afFa gie @
9 e SFasy [@ar g

D) coagiRes, detiOrs

2) cagIRe, GotellcHe

3) Yerforen, GotelTcHs

(&

4) QeTOIh, TagIRS

Ques # :93

Aman is better than most children of his age at seeing complex relationship and solving problems. He would



probably score high in what reseacher Cattell calls ____intelligence.
1) Crystallized

2) Fluid

3) Semantic

4) Componential

IHA GHATIT AT TG ST Foaetll F1 GHSTA H 39 37 & Jeal § Av3 § | Hfeer & Iqan
fearifra & & 98 e TR Y g # gesrad: 3= 3 wred Fen

l)mﬂﬁ'

2) ey

3) 3reerg

Y anfea gfe

Ques # :94

Who said 'Associative and Cognitive abilities' are included in intellectual functioning-
1) Jensen

2) Binet

3) Piget

4) Watson

fraer wer Y S RT3 A gEEdTcH® U9 GAETcAF SAde gieafad ad &-
D Serger

2)

3) R

4) gregsT

Ques # :95

To measure emotional intelligence, the term emotional quotient(EQ) is introducedby
1) Goleman

2) Meyer and Solovey

3) Bar-on

4) Wechsler

AR i 1 A9 & forv FrRafAw dfew g w1 yiaures fFas aarr & -
D aiterdter

2) PR ue Telrar

3) aR 37T

4) qeeR

Ques # :96

According to Plomin & DeFries The current estimate of heretabilty of intelligence is
1) 0.90
2) 0.86
3) 0.50
4) 0.34

TR T N FigT F HTAR I Y IAATTINAAT FT TAATT FEY AT 3|
1) 090
2) 0.86
3) 0.50



4) 034

Ques # :97

Which of the following is not a group test
1) The Otis Lennon

2) Cognitive abilities test

3) Henmon-Nelson

4) WISC-R

Rrefatera # & ST aog e 7 3.
D) sifeq ot

2) EaTeATcHS Aaaar giiefor

3) gTHA oG

4) go1.3m$ TH A-3R

Ques # 98

Which of the following is not a correct match
1) Sengvin Form Board : Performance test

2) Bhatia Battery of Test : Performance test

3) Army Alpha Test : Nonverbal test

4) Binet Siman Test : Verbal test

PR # & Slear wd a d Y
D) St ot ordrator : fsarest aveTor
2) grrfeam dedy gdvetor : fsurest gletor
3) 3r#Y 3rewr gdveTor ; 31Tt qdiefor
4)%8@?@%:&%@%

Ques # :99

Which one of the following theorist do not advocate process oriented theories of Intelligence
1) Piaget

2) Bruner

3) Burt

4) Sternberg

e & A Fi w1 RigiaardY 9f & ik sea fgiay w1 ardes 78 8-
D) ey

2) R

3) g

#) weetet

Ques # :100

In which of the following subtest of Wechsler adult intelligence scale scores decline with age -
1) Vocabulary test

2) Digit span test

3) Information test

4) object assembly test

AFHR TEEH g AT & Fe=Tiher 3TQaTon & ¥ Rras wroais & 31 & ar N g g &-



1) erecrarely adrefor

2) 3iep faEar adietor
3) g o yaTor
4)aq-§rﬂ'€ﬁ3|?rqfraTUT

Ques # :101

Which one of the Psychologist of the following advocated substitution of factor analytic approach with
information processing approach

1) Eysenck
2) Guilford
3) Sternberg
4) Raven

e 7 @ fre AT 3 FRE RRATomTeE 39T FI {aeT GHT 399AT @
yfaearia XA F awraa AT g

D smforeen

2) farerss

3) Festat

4) Yiaer

Ques # :102

According to Sternberg, there are three kinds of intelligence. One of which is intelligence also known

as bussiness sense or street smarts
1) Performance

2) Contexual

3) Componential

4) Experiential

Feoiae & HTAR TG F it Yo R Ta T E 3AX 4 0F 9 & oI gaeRe @aies e
T TATEH & AT @ oft 7 SATT 8-

D forsuree

2) Heseas

3) gedhra

4) rperasea

Ques # :103

Which one of the following feature in not included in divergent thinking -
1) Parsimony

2) Fluency

3) Unusualness

4) Uniqueness

fArafaf@a & ¥ 5T ve fRdvyar # s Reas & gfFafea a8 Farrn g
D) frgeaRar

2) yarfear

3) 3rETeROTar

4) fafarsear



Ques # :104

According to Yerksdodson law ,the more the tasks is , the is the optimal level of arousal for
maximal performance-

1) Difficult : Lower
2) Difficult: Higher
3) Physical: Higher
4) Mental: Higher

TY SIEE g & IR, F1 oot aftw _gar ¢ srfaeRe frsareer &1 ameet 399« &1
3qATR___ gare

D) et

2)W:3ﬁr

3) amiiRe:3ea

) A 3T

Ques # :105

Which of the following is not one of Bandura's three factors in reciprocal determinants
1) environmental

2) the person

3) traits

4) behaviour

Toel & HAI A & et FRA A F i@ # ¥ 5T v F afFafaa a8 R
1) arareazor
2) =gfFq

Ques # :106

Rogers believed that in order for people to become fully functioning ,they must receive from the important
people in their lives -

1) Unconditional positive regard
2) Conditional positive regard
3) Positive reinforcement

4) Positive modeling

Uord 1 faearwr a1 AT o 1 Qoiedor aohe A fFd oo & T e e Avga e d
YT AT IR

D) erduifea EeRIcAs g+ AT
2) gt FHPRIcHS TFATA
3) gPRIcHS JoTelole]

4) FerTcHe ATsTelar

Ques # :107

Which method of personality assessment offers the most objective measurement -
1) Interview

2) Projective test

3) direct observation

4) personality inventories



s fFaca Araer 1 Hia W R waiftrs avrgfass oo v Fdt
1) gretrese

2) gaych fafRrat

3) gzt ferdretor

1) caferdca nfasariien

Ques # :108

Implicit personality theories are usually based on -
1) Case studies

2) Aggregated case studies

3) Personality inventory scores

4) Intuition and limited observation

IegTa safFacd RAGid AT AFnfra # § frw 9T 3mad g §-
D) Shaer g afer

2) gifara shast o fafer

3) saferdea 3nfaesTenT Trdien

4) 3reaiTeT vg @A gefor

Ques # :109

Your new teacher announces in class, ' In my experience, I have found that all students have a certain degree
of laziness. Some have a lot and other have only a little. But everyone has some .' This teacher seems to favor
the approach to understanding personality -

1) Humanistic approach
2) Psychodynamic approach
3) Ideographic approach
4) Nomothetic approach

YT AT HEATTF F&T A FT ¢ 1 ' A AHA 7 39 79 & Wl oAl 7 7o g¢ d& YRAwA ¢
S A A, FS A A1GT, Al wa F gieaue Algg ¢ ¥l alkfFufa & Rare o6t & safFaca #
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D) areradrardy surms

2) Ty 3umTH

3) Hldd-lc\oich S4ldlH

) A 39T

Ques # :110

The New Freudien theorist proposed that people's lives are dominated by the search for ways to

overcome feelings of inferiority and inadequacy -
1) Carl Jung

2) Carl Rogers

3) Adler

4) Bandura

AqBrIsars! Rgreaara! #1 arar ¢ fF safFa wt gl fierar va srqaufaar & sma fr gfct F@ @
farT gt Y @Yt garT yenfaa ey ¥

1) ghres 2T

2) el JTe

3) vgert



4) T

Ques # :111

According to Freud what are main two type of Instincts ?
1) Eros and Thantos

2) Aggressiveness and Tension

3) Ego and Super Ego

4) Id and Superego

WIS F HTUR AT TIfd F A AT TFR AT A2
D &0e1 3tk St

2) 31TshH AT 3N JeTra

3) 378 3R I3E

1) geq AR 3

Ques # :112

The thinking in which there is originality, flexibility and fluency is known by which of the following name ?
1) Convergent Thinking

2) Creative Thinking

3) Autistic Thinking

4) Reasoning

9 Ras e & @ 5T J19 @ 11 SI1an & fowe Jfeear, ahengst iR yarfgarar 2
D 3ifarard Riger

2) goretteAeh Tide

3) T Ride

4) g7

Ques # :113

When fox could not reach up to grapes, she said that grapes are sour .This is an example of which defense
mechanism ?

1) Reaction formation
2) Displacement

3) Regression

4) Rationalization

STa st STl e T o Tt 3W e o IR @ ¥ | 7w e TaT o T saTer ¥
D) gfaferar st

2) fareae

3) gfqeraT

4) gieaetor

Ques # :114

Five factor theory of personality is given by :
1) Sheldon and Krechmer

2) Allport-Maslow

3) McCrae - Costa

4) Cattell- Singer



eqfaacd T Ui g fAgid fhas faar e :
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3) Ay 3R e
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Ques # :115

According to Carl Jung latent memory traces from people's ancestral part are known as -
1) Collective Unconscious

2) Personal Unconscious

3) Persona

4) Mandala

FTAG & HTAR A1l & AT Sgahrer & regara T AT A ST B
D wfee 3raae

?) safadea s

3) e

4) oz

Ques #:116

Raymond Cattell identified :

1) 16 source traits of Personality

2) 7 primary mental abilities

3) 120 cognitive factors

4) 4 ways of thinking and beliveing

e Fed o AP :

D) 16 7o fadvwes (cafeaca &)

2) 7 qraffer AIAS eTHaR! (cafddcd &)
3) 120 GSTATCH TTeh

D 4 30F Arar T RE@ A &

Ques # :117

Who suggested the concept of Intelligence Quotient ?
1) Levis Terman

2) Williams Stern

3) Alfred Binet

4) Jean Piaget

g afew 1 vea fFaa geman a2
D) a ot

2) fafors weet

3) 3re3ps fae

4) Sfer Rrzmer

Ques # :118

Who was the propounder of the model of seven primary mental abilities ?



1) L.L Thurstone
2) J.P Guilford

3) Jean Piaget

4) Charls Spearman

foreer 7 & Rree wTa Ho AR averar #1 Afse e ar 2
D ver vt 2R

2) 3 oY oS
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%) Ired TheRAT

Ques # :119

Who among the following proposed three types of personality namely- Pyknic, Athletic and Asthenic-
1) Carl Jung

2) Sheldon

3) Kretschmer

4) Allport

fower & & free et TR & safFaca aaed - MaF, s T g
1) e gt

2) Syereer

3) gheFT

4) 3o

Ques # :120

Which of the following type of intellegence is not included in Howard Gardner's theory of multiple intelligence
D)

1) Musical intelligence

2) Cultural intelligence

3) Linguistic intelligence
4) Naturalistic intelligence

foret & @ sl Ao gias améer A1 3 qfy Rigia # wiEafa a8 ¥
D gafrer sy

2) wreep i g
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Ques # :121

Mohan finds that the results of t-test are significant at .01 level that means that he can be -
1) Totally certain that the results are not due to chance

2) Totally certain that the results are due to chance

3) 1 percent certain that results are not due to chance

4) 1 percent certain that results are due to chacne

AlgeT Y AT § T & 98701 F IR .01 T W a1 § OTF1 arcad § Y 98 Fg qhaT g -
D) ¥ e ffRad & it aRome Fiter i ao7e & 7 oea g &
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1 v yfayra AfRada & fr aRoma g3 o 3maRa &

Ques # :122

Which of the following test is most likely to be used by a psychologist who wishes to categorize people into
psychiatric categories based on forced choice answer -

1) MMPI

2) CPI

3) 16 PF

4) Rorschach

farafaf@a & @ i@ wderor 39 Aara= A garT @aifs w7 o srar g st et a3
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2) Aoy s
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Ques # :123

Which of the following personality assessment techniques does not belong with other
1) CPI

2) TAT

3) NEO-PI

4) MMPI-2
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Ques # :124

Which of the following is not one of the dimensions assessed by Myers Briggs type indicator-
1) thinking Vs feeling

2) Sensing Vs intuiting

3) Stable Vs unstable

4) Extroverted vs introverted

freafaf@a & 9 i a1 e A ARR {9 THR Thds SaRT A1 AT AT §
D) Reaet s s1ga

2) 3THT FATH et altet
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Ques # :125

In an experiment if the subjects are randomly assigned to different conditions the measures are studied by
using -

1) ANOVA

2) ANCOVA



3) Factor analysis

4) xE

Ife; et waer 3 wasa ) are e fafer gar faffiesr et o forarer fonam aram & & wrea weeat

) T ARy ganT sreaae fFar s -
1) ANOVA

2) ANCOVA

3) Factor analysis

4) X2

Ques # :126

' Reinforcement will have positive effect on performance' which type of hypothesis is this-
1) Null and directional

2) Alternate and directional

3) Null and non directional

4) Alternate and Non directional

qeraolel T fersuTee I HIIcHs T 11T 7% e TR 1 aReFede ¢-
D forrervofi 3t Remgaes

2) dpfods v g

3) g7 vg e

1) deproTen 3T fERmEeT

Ques # :127

Which one of the following is an example of an artificially discrete variable
1) Number of children in a family

2) Nationality

3) Sex

4) Examination results in terms of pass and fail

frafaf@a & @ #lq v 7 @f3T 9T F1 3¢ §-
D) qfar & s=ar fr awa

2) rséraan

3) T

4) ofredT IRUTH 9T T el & &9 &

Ques # :128

Semantic differential scales assess the semantic dimension of
1) evaluation and potency

2) potency and activity

3) evaluation and activity

4) evaluation potency and activity

ereaTd fasTes AT et a3t &1 fruior wet §
D) seaienst wa aifed

2) erfera wa o

3) i ua frar

4) Frearehe erfera fmam



Ques # :129

Sampling errors can be reduced by-

1) Increasing both sampling size and variance
2) reducing sample size and increasing variance
3) increasing sample size and reducing variance
4) reducing both sample size and variance

yfaeae 38 i feera e & R smaware
D) ufdest & 3R va wERoT & S darE

2) yfaget & RN TeTa aUT TE0T T ST

3) 9faeel & TR FI TR TF THIUT ST TETHT
4) yf3eel & 3R T a7 ST Y TeTaH

Ques # :130

A Researcher wishes to study the effect of frequent change of residence on the school achievement of children
? What kind of research design in most appropriate -

1) Pretest Post test denign
2) Factor analysis

3) Longitudinal

4) Correlestional

THATTFHAT T§ ST AT8clT & P TR-TR AT TRET HT THIT Tea) Y Thell ST T FAT I3
22 39 YR & Heqq H 5T YHR F7 e A Wweq gaifde 3faa ghem

D) q& qdvetor geare gdetor rfae

2) e faRarvor

) oA

1) HEaFEUTcHS

Ques # :131

If in an experiment ,neither, the subject nor the experimenter knows which subject are in experimental group
and which are in control, then the design in known as

1) Double blind subject study

2) Double blind study

3) Double blind deception study

4) Double blind experimenter study

I Ty 7 A1 gt AR 7 & FEaleua safFd I8 ST ¢ P S TANRICAS |og A ¢ AR
Pl e worg # & a9 59 wFR 1 1w e Sar @

D) &g 37e1 9IoT 3reTeT

2) e 37e1 3T

3) g 3rey mnfed Fereh e

4) &g 37¢T YT 3TETTT

Ques # :132

Arrange the following research methods in order to their increasing potential to find causal relationship:
1)Experiments 2) Field studies 3)surveys 4) Quasi experiment experiment

1) 1,234
2) 3,2,4,1
3) 3.4,2,1
4) 1,3,24



maﬂvﬁmﬁﬁmwm%maﬁh?alﬁ?#w#ﬁmﬁwmﬁ

STGTEUd HTAT 1) TAT 2) AT FEIIA 3) FI&TT 4) 31 TAT
1) 1,234
2) 3241
3) 3,4,2,1
4) 1,3,2,4

Ques # :133

Experimental and quasi experimental research can not be distinguished on the basis of
1) Manipulation of independent variable

2) Random assignment of subject to experimental conditions

3) Studying causal relationship

4) Applying statical analysis

U g 3red g over F 3R RFfai@d & 3w a3 A R i g -
D) FgcT s ger ger

2) garsar S grafEes RT3 7 areiTos caae

3) SRIERTOT HFHY ST AT el

4) FIEIHIT FIRAITT FFe AT

Ques # :134

A Researcher designs an experiment to test the effect of playing video games on memory. What would be the
dependent variable.?

1) Scores on memory test

2) Playing video game

3) number of hours spent playing video games
4) The type of video game played

UF HJHUTAHAT Tg AT & [T TF TAT FIaT ¢ Y AT Saat #1 wang wfer w ugar @) 3@
AT & ATTAT T 4T 92

D) wafa aferor X gredis

2) difgar 17 Qo

3) Sifear 7 Gorar H SR ST arel) Gel Sy JEdT

4) AifzA A7 FTIFR

Ques # :135

A person's mood quality of performance and bodily temperature are all exampleof because
each process changes with different time and conditions-

1) biases

2) stimulus events
3) hypotheses

4) variables

U ST Y AsileRn frsaresT I J0Tadr, AR T dT9shd Ig Hs{l Sggror g, FfR
YeAF T gikar 7 aRads aa va Rufa & seqar gare

D sfeafa

2) 35 gy

3) aReeuarr

4) ¢




Ques # :136

If an intelligence test is validated or correlated against the marks obtained in the previous examination then
the purpose to know-

1) Predictive validity

2) Concurrent validity

3) Construct validity

4) Criterion related validity

7 v qfig TaTor Y derar A1 FeEFay T T8I H T Jredie! & T8 F R ST § a9 3HH
34F AT FIAT§

D srfasgaroft derar

2) gHadt dudr

3) TT=ATCHS dUrdT

4) e gHEaY derdr

Ques # :137

A Scientist announces that his latest research has changed the way he thinks about the world and how it should
be studied . This phenomena in known as

1) Theory
2) Context
3) paradigm

4) Operational definition

TS AAIAAEAAF g SIVOI FICAT § T ST AN ITHU § HFAR F IR 7 Wraat & v 7
uRada gam ¥ 3R 38d H areya g Star e I ST §) I€ geH ST SA1at §
D) fargia

Ques # :138

After the election a psychologist interviewed the 250 people to known their reaction. This is an example of
1) Field experiment

2) Controlled Experiment

3) Ex-post Facto field Research

4) Psychometric Research

TS AAAATAS & AT & qTE 250 SN FHT WIATTCHR A SeTeht faforar of| Ig fFaer semeor g2
D) Sy sriter

2) forifae waer

3) geT geara A eier

4) Fhfore efver

Ques # :139

McClelland measured need for achievement by which of the following test
1) Rorschach Ink Blot test

2) EPPS

3) TAT



4) MMPI

HefFerels o 3aafewr i TaeIFHdr I et 7 § fora qdiaTor garT AT 2
D) Qe Tarré & ersa arerr adietor

2)&qrdrey

&

4) A YA IS

Ques # :140

What would be the degree if freedom for a chi square based a 4x5 contingency tables

1) 5
2) 9
3) 12
4) 20

4x5 FY 3HIT RO 9T TR F15 THAAT F o Tadadr Hr Fife Fam geft?
) 5
2) 9
3) 12
4y 20

Ques # :141

Among the following who constructed culture free test of Intelligence?
1) Wechsler

2) Terman

3) Binet and Simon

4) Cattell

foesr & & frwa g 1 aepfar g aReror sam -
D) 3eerx

2) eH"

3) fo1 3R TTEHT

4) 3o

Ques # :142

In which of the following test, IQ was used for the first time?
1) Binet Simon Scale

2) WAIS

3) Stanford Binet Scale

4) WISC

Y e &1 yoaw gad vee fFa giy aderor F sugea frar =
D faa-grgaer Ao

2) WAIS

3) TS o AT

4) WISC

Ques # :143

The mental Age of a 14 year old student is 16 years. What will be his 1Q?



1) 1.14
2)11.4
3) 114
4).114

UF 14 9§ & ST H ATARAF A 16 a9 § 37 IIY afewr w=am ghaf?

1) 1.14
2) 11.4
3) 114
4y 114

Ques # :144

Who propounded three dimensional theory of intelligence ?
1) Spearman

2) Guilford

3) Gardner

4) Sternberg

3R & Fafa Raiar &1 SfardTaer et Fa?
D) fedte

2) Rraws

3) MmER

4) Festae

Ques # :145

In Guilford's model of Intelligence convergent thinking is a part of which of the following dimension?
1) product

2) content

3) operation

4) None of these

RTeIYS 3 qf; & aitser # SV Rierer v 3 fver Faa a7 srrar &
D 3curg

2) fawaaeq

3) gfgar

4) goTot S oft 7T

Ques # :146

IQ is an example of which of the following scale?
1) Ratio Scale

2) Nominal Scale

3) Ordinal Scale

4) Interval Scale

g feer greares fawa & frw ATael 1 3eTR0T 87
D) srsgenfares aAmoeht

2) sAIfAeT AT

3) PR AT

4) s1erret AT



Ques # :147

Which of the following subtest of WAIS is not included in the ' Hold test ' ?
1) Vocabulary test

2) Information test

3) Object Assembly test

4) Digit Symbol test

T & @ WAIS F 5T 3q9detor #1  gies qdator ' & gfFafaa a8 fFar = 2
1) erecrarely adretor

2) g FeTor

3) aEq Hooitaor qdreTor

4) 3 RIeg qeTor

Ques # :148

Factor analysis is best suited for studying which of the following validity ?
1) concurrent validity

2) Predictive validity

3) Construct validity

4) content validity

et 7 @ e Sera &1 sreaaer e & o e Rreivor wed 1t sugEa 32
D) g dear

2) et fern

3) dhegare (TRT=T) d4dT

4) fawr g derar

Ques # :149

Which of the following method is best for data collection in case of children?
1) Interview

2) Experiment

3) Observation

4) Questionnaire

TTO W 63 THRd A N AT A A FTdI R sss §
D) wmattesr

2) iy

3) gt

4) yesTaTelr

Ques # :150

Which of the following method of experimental control will be used when the same subject must serve under
two or more experimental conditions?

1) Balancing

2) Elimination

3) Constancy of condition
4) Counter balancing

ST U &Y Tawdt &Y Y A7 3rf&re qrafre sravArs F F1 FIEAT 92 a9 TR Faesor f AT &
fra Rfr FT AT FEr 2



D) diqgeret

2) foRTER

3) Zam3it fr FEeREr
4 wferiqe



